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Q1 21 attempts

A large number of students attempted the question, but it proved too challenging. Very few were able to
sketch all pore pressure and effective stress distributions, although at least initial and final profiles should
have been straightforward. The idea of excess pore pressure being caused by a drop in water table level
has proven to be quite confusing. If the students could not identify the intermediate isochrone it became
difficult to answer the last part of the question.
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Q2 16 attempts,

Thequestiorwastheleastpopularwith greatdifferencein successThe answersveremostly eithercorrec
or blank,with very little in betweenThe mostdifficulty wasgivenby the upperboundapproachSome
studentglid nothaveanyanswersntheexamsheet.
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Q2	 16 attempts, 
The question was the least popular with great difference in success. The answers were mostly either correct or blank, with very little in between. The most difficulty was given by the upper bound approach. Some students did not have any answers on the exam sheet.
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Q3 25 attempts

This was also a popular question. Generally students could identify the forces involved, but there was
confusion on how to calculate the eccentricity and effective width of the foundation. The need to assess
interaction between horizontal and vertical loads was not recognised by a good number of the students.
In the final part, most students assessed the change in stresses, but did not add the extra horizontal force
caused by the water.
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Q4  3lattempts,

Thiswasthe mostpopularquestionwith all studentsattemptingt, andgenerallygoodresults.The questionsvere
themostsimilar to examplepapersandfollowed a patternseenin otherexamsWell preparedstudentsvereableto
answernall thequestionsvell. Somestudentsstruggledwith basicconceptswvhich aredescribedn the databook.

ANSWERS

1. (a)(i) 2223kg/m3,14.1%:;(a)(ii) 19.1kN/m3; (c) 12.2days.

2.(b) V = BSu(1#/2+20+1/(2tana)); (c) VIB = 4.484BSu.

3.(a)FS=1.49;(b) e=0.262m; (c) V = 638.3kN/m, H = 139.8kN/m.

4. (a)1=0.156,k=0.024,6’ p=90kPa;(b) c’v=32.4kPa;(c) p=31cm;(d) 3.67years
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ANSWERS
1. (a)(i) 2223 kg/m3, 14.1%; (a)(ii) 19.1 kN/m3; (c) 12.2 days.
2. (b) V = BSu(1+π/2+2α+1/(2 tan α)); (c) V/B = 4.484 BSu.
3. (a) FS = 1.49; (b) e = 0.262 m; (c) V = 638.3 kN/m, H = 139.8 kN/m.
4. (a) λ=0.156, κ=0.024, σ’p=90 kPa; (b) σ’v=32.4 kPa; (c) ρ=31 cm; (d) 3.67 years.
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Q4	31 attempts, 
This was the most popular question, with all students attempting it, and generally good results. The questions were the most similar to example papers and followed a pattern seen in other exams. Well prepared students were able to answer all the questions well. Some students struggled with basic concepts which are described in the data book. 





